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Question Number : 1 Question Id : 6801918937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shape of air film formed between the plano-convex lens and the glass slab in Newton's ring
experiment is of-

1. Rectangular shape

2. Uniform thickness

3. Wedge Shape

4. No ar film 15 formed

Options :

68019135201. 1
68019135202. 2
68019135203. 3

68019135204. 4

Question Number : 1 Question Id : 6801918937 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1 EIE COIIegedun'a§
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Options :

68019135201. 1
68019135202. 2
68019135203. 3

68019135204. 4

Question Number : 2 Question Id : 6801918938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LISTII
The linear momentum of The frames relative to which an
A _ |the system remains [. |unaccelerated body appear to
constant be unaccelerated
The Angular momentum The frames relative to which an
B. |of the system remains II. |unaccelerated body appear to
constant be accelerated

11 The external torque acting on a

C. |Inertial frame : :
system of particels 13 zero

The net External force acting

D. |Non inertial frame IV. . :
on a system of particles 15 zero

Choose the correct answer from the options given below:

CA-IIL B-IV. C-1, D-II
CA-IV. B-1III. C-I. D-II
CA-IV. B-IIL, C-I1, D-I
4. AL B-1. C-IV. D-II

ba =

L]

Options :
68019135205. 1
68019135206. 2

68019135207. 3 Qcollegeduniag
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68019135208. 4

Question Number : 2 Question Id : 6801918938 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-ITL, B-IV, C-1. D-II
2. A-IV. B-IIL. C-L, D-II
3. A-IV. B-IIL. C-IL. D-I
4. A-ITI, B-1, C-IV., D-II
Options :

68019135205. 1

68019135206. 2

68019135207. 3

68019135208. 4

Question Number : 3 Question Id : 6801918939 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I with List II

LIST1I LISTII
Maxwell's First Equation I |Modified Ampere's Law

Maxwell's Second Equation| II. |Faraday's Laws of Electromagnetic Induction

Maxwell's Third Equation | III. |Gauss Law in electrostatics

ofa[w]»

Maxwell's Fourth Equation | IV, |Gauss Law in magnetostatics

Choose the correct answer from the options given below:

1.LA-I.B-1IV,C-II1.D-1II
2AII.B-1II.C-IV.D-1I
JJAIL.B-II.C-III.D-IV
4 A-IIT.B-IV.C-1I1.D-1I

Options :

680191352009. 1
68019135210. 2
68019135211. 3

68019135212. 4

Question Number : 3 Question Id : 6801918939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.AT,B-IV, G-I, D -1
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Options :

680191352009. 1
68019135210. 2
68019135211.3
68019135212. 4

Question Number : 4 Question Id : 6801918940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The efficiency of the Carnot's Engine working between the steam point and the ice pont 1s

. 26.8%
. 2.68%
. 62.8%
4. 82.6%

Options :

| S

L)

68019135213. 1
68019135214. 2
68019135215. 3

68019135216. 4

Question Number : 4 Question Id : 6801918940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g fafg ofR e g & &9 &1 o3 a1d &I & 5o @i a&idl &

. 26.8%
. 2.68%
. 62.8%
4. 82.6%

Options:
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68019135215. 3
68019135216. 4

Question Number : 5 Question Id : 6801918941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List Iwith List I1

List I List IT
A [(AS/AR) T I [(6P/eTh,
B. |(6T/éV)s II. |(&V/éS)p
C. |(¢T/éP)g IIL |- (6V/éT)p
D. |(e5/eV)t IV. |- (P/eS)y

Choose the correct answer from the options given below:

A-IIL B-IV, C-I1, D-I
CA-IL B-IV, C-II1L D-I
3. A-I. B-II. C-III. D-IV
4. A-IV. B-III. C-II. D-I

o =

Options :

68019135217. 1
68019135218. 2
68019135219. 3

68019135220. 4

Question Number : 5 Question Id : 6801918941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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gt 151 gdt 11 ¥ [HaE $ifen

g 1 T I
A |(As/AR) T I [(GP/ETh,
B. |(6T/6V)s II. |(c6VicS)p
C. |(@T/eP)g 1. |- (EV/ET)p
D. |(65/6V)T IV |- (6P/&S)y
-4 f3u T f9e el & 9 95l SR -
1. A1, B-IV, C-I1, D-I
2. A1, B-1V, C-II, D-1
3. A-I, B-II, C-III, D-IV

4. A-IV. B-III. C-II. D-I
Options :
68019135217. 1
68019135218. 2
68019135219. 3
68019135220. 4

Question Number : 6 Question Id : 6801918942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s true for reversible process?

1. The pressure and temperature of the working substance and the surroundings should differ
at any stage of the operation of cycle.

2. The process should take place very slowly during operation

3. The process should take place very fast during operation

4. Energy should be lost due to conduction or radiation during operation of the cycle.

Options :

68019135221. 1
68019135222. 2
68019135223.3

68019135224. 4

Question Number : 6 Question Id : 6801918942 Question Type : MCQ Op@ﬂl‘hggdma



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. TG & SR ichaT agd doil 9 g a1y

4. 9% & SAI0 & SR S I1 fafde0r & BRI Sul BT &4 1 TNfe]

Options :

68019135221.1
68019135222. 2
68019135223. 3

68019135224. 4

Question Number : 7 Question Id : 6801918943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the radiation emitted by the star has a maximum intensity at a wavelength of 446 nm. its

surface temperature will be nearly equal to ...... (Wein's constant = 2.9 x 10~ mK)

650K
65K
.6500K
65000 K

Options :

| S

e aa

68019135225. 1
68019135226. 2
68019135227. 3
68019135228. 4

Question Number : 7 Question Id : 6801918943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Thﬁme :N.A

Minimum Instruction Time : 0 Collegedunlaé
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Correct Marks : 4 Wrong Marks : 1

Hﬁwﬁﬁmmﬁﬁﬁﬁa‘{mﬁ 3fepdH diigd 446 mnﬁwaﬁwaﬂﬁﬁﬂfﬁw
I ATTHM TTHT SRI6R GHIL..... (41F FHTdid = 2.9 x 107 mK)

1.650K
2.65K
3.6500K
4.65000K

Options :

68019135225. 1
68019135226. 2
68019135227.3

68019135228. 4

Question Number : 8 Question Id : 6801918944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. . . . ) .
Ultraviolet light of wavelength 350 nm and intensity 1.00 Wm™ falls on a potassium surface.
The maxmum kinetic energy of the photoelectron is

1.33eV
2. 1.9V
3.32eV
413V

Options :

68019135229. 1
68019135230. 2
68019135231. 3

68019135232. 4

Question Number : 8 Question Id : 6801918944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Qcollegeduniaé
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Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019135229. 1
68019135230. 2
68019135231.3

68019135232. 4

Question Number : 9 Question Id : 6801918945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true for Compton effect?

(A) The wavelength of the scattered X-rays is larger than the incident X-rays

(B) The change in the wavelength of the incident and scattered X-rays depends on the mtensity
of the incident X-rays.

(C) The change in the wavelength of the incident and scattered X-rays depends on the scattering
angle.

(D) The wavelength of the scattered X-rays 1s smaller than the mecident X-rays

Choose the correct answer from the options given below:

1. A and B are correct
2. B and C are correct
3. A and D are correct
4. A and C are correct

Options :

68019135233, 1
68019135234. 2
68019135235. 3

68019135236. 4

Question Number : 9 Question Id : 6801918945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Thi jme : N.A .
collegedunia:
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019135233. 1
68019135234. 2
68019135235. 3

68019135236. 4

Question Number : 10 Question Id : 6801918946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Clausius- Clapeyron's latent heat equation is represented as

1 {E) - ;
T~ TVa—W)

2 E} = —L
P T T(V, - W)
av L

‘3' [E)P = T{I"’_ s I"E }

4. [ﬁ} = ;
T’ L(V—-W)

Options :

68019135237. 1
68019135238. 2
68019135239. 3

Qcollegedunias
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68019135240. 4

Question Number : 10 Question Id : 6801918946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FATRY-TRIURIA P T &S GHIPRU B 54 YHR a=0141 771 §

oP L
Ly = momox
aT TV, — V)
. I_E} = —L
TP T(— W)

av L
3.(m)p =
aT TV, — W)

oP T
4. {E}*' = v =
(V2 - W)

Options :

68019135237. 1
68019135238. 2
68019135239. 3

68019135240. 4

Question Number : 11 Question Id : 6801918947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-ray wavelength of 10.0 pm are scattered from a target in Compton experiment. The
wavelength of the X-rays scattered through 45% is .... ( rest mass of electron =9.11x10! Kg,
planck's constant = 6.64x107* I-Sec and speed of light = 310 m/sec)

. 1: 07 pm
.70.1 pm
.10. 7 pm
4.107 pm

L bl =

Options :

68019135241. 1

68019135242. 2 Qcollegedunias
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68019135243. 3

68019135244. 4

Question Number : 11 Question Id : 6801918947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T JANT E U 78T F 10.0 pm . P U0 qiveed Hapifvid g% o | 45° 9 Uapififa

TR-ORUT 1 G € ... (S0 ORMH Fo0HI = 9.1 » 103! Kg, Wep o7 FORT =
6.64 x 10 J-Sec 3R YHTY I Tfcl = 3X108 m/sec)

. 1.07 pm
. 70.1 pm
.10.7 pm
4,107 pm

b

L]

Options :

68019135241. 1
68019135242. 2
68019135243. 3

68019135244. 4

Question Number : 12 Question Id : 6801918948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct for Second law of thermodynamies.

(A) It 18 impossible to derive a continous supply of energy from a body by cooling it below the
temperature of its surrounding.

(B) It 13 possible to derive a continous supply of energy from a body by cooling it below the
temperature of its surrounding.

(C) It 1s impossible for a self acting machine. unaided by any external agency to convey heat
from a body at lower temperature to another body at higher temperature.

(D) It 1s possible for a self acting machine. unaided by any external agency to convey heat from
a body at lower temperature to another body at higher temperature.

Choose the correct answer from the options given below:

1. (A) and (B) only
2.(B) and (C) only
3.(B) and (D) only
4. (A) and (C) only
Options :
68019135245. 1
68019135246. 2
68019135247. 3

68019135248. 4

Question Number : 12 Question Id : 6801918948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. %44 (B) 3R (D)
4, %99 (A) MR (C)

Options : .
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68019135245. 1
68019135246. 2
68019135247. 3

68019135248. 4

Question Number : 13 Question Id : 6801918949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

10 gm of water at 100°C is converted into steam. At the same temperature, the change in entropy
will bg........ ( The latent heat of steam = 540 cals/gm).

1. 1447 calK
2.144.7 callK
3. 7447 callK
4. 4747 calK

Options :

68019135249. 1
68019135250. 2
68019135251. 3

68019135252. 4

Question Number : 13 Question Id : 6801918949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 F&20 AATTR R 10 79 I BT ara & Rafd a1 o1 1 S a9EE R U |
ORE BT ...... (G 1 T 3T = 540 SHEARYIH)|

1. 14.47 calK
2.144.7 calK
. 74.47 cal/K
4.47.47 calK

Options :

faa

68019135249. 1

68019135250. 2 Qcollegeduniag
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68019135251. 3

68019135252. 4

Question Number : 14 Question Id : 6801918950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higher energy photons are scattered from electrons initially at rest. Assume the photons are back scattered
and their energies are much higher than the electron’s rest mass energy. The wavelength shift willbe........

(h'mc=243 « 10 m b= planck constant. m, = mass of electron and ¢ = speed of light)

1.486x 10710y
2.48.6x 102 m
3.486x 102 m
4.0.486 % 107 2m
Options :

68019135253. 1
68019135254. 2
68019135255. 3
68019135256. 4

Question Number : 14 Question Id : 6801918950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I ol AT Pler-g oI, YRR H R Seide 1 3 Taiuid fohal ol § | 714 aiford i
ICH aTTd WoITid gU S AR 390! SHull sadci B (YR GadH &l B ol & agd
&ﬁﬁﬁ%ﬁwﬁﬂfqﬁaﬁ:{m (Wmee=243 =10 Lo, h‘@@@%m —sﬁafﬂ

B A 3R ¢ = YHIE PI 711

1.486 x 107%9m
2.486 %1072 m
3.486 %107
4.0.486 x 107 2m
Options :

68019135253. 1 Qcollegeduniag
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68019135254. 2
68019135255. 3

68019135256. 4

Question Number : 15 Question Id : 6801918951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct for a P-N junction diode

(A) For Forward Baising . the P-side of a diode 18 connected with postive terminal and N- side of
the diode is connected with negative terminal of the battery

(B) For Forward Baising . the P-side of a diode 15 connected with negative terminal and N- side
of the diode 15 connected with positive terminal of the battery

(C) For Reverse Baising . the P-side of a diode 1s connected with negative terminal and N- side
of the diode 13 connected with positive terminal of the battery

(D) For Reverse Baising . the P-side of a diode is connected with postive terminal and N- side of
the diode 1s connected with negative terminal of the battery

Choose the correct answer from the options given below:

1. (A) and (B) only.

3. (A) and (D) only.
3.(A)and (C)
4.(B).(C) and (D) only.

Options :

68019135257. 1
68019135258. 2
68019135259. 3

68019135260. 4

Question Number : 15 Question Id : 6801918951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(D) R (Uyiee) TR & fou, ST1s &1 Ul-91gs el & YHIed R 4 981 8/l §

IR TS 1 -85S Se) & HUTHS RN T 515 8|
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Options:

68019135257. 1
68019135258. 2
68019135259. 3
68019135260. 4

Question Number : 16 Question Id : 6801918952 Question Type : MCQ Option Shuffling :

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a LCR circuit, the current and emf in the circuit differ in phase by 0. the value of 0 1s given

by

1. 0 = tan" [(X; -X)R]. where X; and X_. are reactance and R is resistance
(Xp *X)R]. where X; and X, are reactance and R 1s resistance
CIRY(Xy -X ] where X; and X are reactance and R 15 resistance
4.0=tan} (R)/(X; +X]. where X; and X, are reactance and R is resistance
Options :
68019135261. 1
68019135262. 2

68019135263. 3

No Is

68019135264. 4 :
collegedunia:

~



Question Number : 16 Question Id : 6801918952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® LCR URTY H, YRT AR fded 169 a1 . B (@aN) & 0 §RI T 5ld 6. 0 PITHA 3H
TR o o &-

1. 0= tan™[(X; -X )R], 98 X 3R X WA § 3R R Uik
= tan™![(X; *X()R]. T8I X; 3R X UHId § SRR WlRIY §
= tan™L[(R)/(X; X ], 81 X; R X, Wi 3 R R URIY &
4. 0= tan™[(R)/(X; +X . 581 X; AR X, WiHTdg SRR WlRIY &

Options :

I_J

r_.u

68019135261. 1
68019135262. 2
68019135263. 3
68019135264. 4

Question Number : 17 Question Id : 6801918953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the resonance (angular) frequency of an acoustic system 15 300 Hz and half power frequencies
are 150 Hz and 450 Hz respectively, the qualitiy factor is

1.25
1.50
1.0

175

Options:

=

e

68019135265. 1
68019135266. 2
68019135267. 3
68019135268. 4

Qcollegeduniaé

~



Question Number : 17 Question Id : 6801918953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufe efie e o oFAE (@I w%aooaéa%‘aﬁwﬁ e STl HH: 150
oo AR 450 §ea g dl oﬂwﬁfﬂww

1.25
1.50
1.0

4.1.75

Options :

faa IJd —

68019135265. 1
68019135266. 2
68019135267. 3

68019135268. 4

Question Number : 18 Question Id : 6801918954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Fraunhofer diffraction pattern is produced by a circular aperture of radius 0.05 cm at the focal
plane of a convex lens of focal length 20 em. The radius of first dark ring 1s (Assume wavelength

to be 5 % 10™ cm)

1.1.22 x10% em.
2.12.20 x 107 em.
3.1220x 102 em.
4. 12.20 em.

Options :

68019135269. 1
68019135270. 2
68019135271.3
68019135272. 4

Question Number : 18 Question Id : 6801918954 Question Type : MCQ 0@@6”@%%&1



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 9. 1. By Tz & 399 0¥ & BIdy dd TR 0.05 3. . B & 1P add GRS gRI
UG WI3-TeIHR fdad- Uen HiHd a1 ofidl ¢ | U8 351 9ad & T & (A St fds
e 5 < 10° AL B)

1.1.22 x107 i,
2.12.20 x 1073 441,
3.12.20 x 1072 T,
4.12.20 9.

Options :

68019135269. 1
68019135270. 2
68019135271. 3

68019135272. 4

Question Number : 19 Question Id : 6801918955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Brwster's law can be expressed as

1. u =tan r, where u 1is refractive index and r 1s the angle of refraction
2. tan i = 1/u. where u 1s refractive index and i 1s the polarizing angle

. cos ¥ = i where y 1s refractive index and r is the angle of refraction
4. u = tan i. where y 1s refractive index and 7 1s the polarizing angle

Taa

Options :

68019135273. 1
68019135274. 2
68019135275. 3

68019135276. 4

Question Number : 19 Question Id : 6801918955 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Thi jme : N.A
collegedunia:

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR & g0 31 39 UHR odad a1 o 9dar g

8 =tanr.ﬁ;eW%GﬁTrwm%
tan i = 1/, Tol u SHUGAAIP § IR i YD DIV §

.cosr=yﬂ€fru W%Sﬂ?rwm%
4.y =tan i, UgI u SYGAAID § 3R 7 HdIHUI DIV §

Options:

fag b —

68019135273. 1
68019135274. 2
68019135275. 3
68019135276. 4

Question Number : 20 Question Id : 6801918956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Fraunhofer N slit diffraction experiment, if the diffraction grating has 5000 lines/cm and the

monochromatic light of wavelength of 5 x 107 em is used. The highest order spectrum which
may be seen 1s

2
| R

b
L]

il
Options :

68019135277. 1
68019135278. 2
68019135279. 3

68019135280. 4

Question Number : 20 Question Id : 6801918956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 g
Correct Marks : 4 Wrong Marks : 1 CO”egeduma§

~



13RI N e faga- waim §, ofe faads 3few sooo Taraedt @t 8 3R 5 « 1075 Tl
1 3o & Uepatlf (@HIPIAR) YT & SUU T O &4 Swad Bife 31 avigd
(e S 3 o BT &

| R
I =

L)
L¥%]

4 4
Options:
68019135277. 1
68019135278. 2
68019135279. 3

68019135280. 4

Question Number : 21 Question Id : 6801918957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The function f(x) is said to be piecewise continuous. if it satisfies the following conditions (
Dirichlet conditions) -

(A) The function must have finite number of maxima and minima

(B) The function must have a finite number of infinite discontinuities, in a period of one
oscillation

(C) The function must have infinite number of maxima and minima

(D) The function must have a finite number of finite discontinuities, in a period of one
oscillation

Choose the correct answer from the options given below:

1. (A) and
2. (A) and
3.(B) and
4, (B) and

D) only.
C) only.
) only.
) only.

— —

C
D

—— —

Options:

68019135281. 1
68019135282. 2
68019135283.3

68019135284. 4

Question Number : 21 Question Id : 6801918957 Question Type : MCQ Ogéouﬁgmjzmﬁﬁ



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e £ (x) B URIaT5o! de 1] 3R(Had) gl ol 5, dia 05 aiead S B 93 $vdl @ -
(A) e B 3V AR Ry ot Hiftg 9= g1 et

( B) Ba H US 3o &f oAt 7 3Fd sradarad o ve difir 9w gt aifeu

(C) Ba | 3y @fdn) SR iy (@i ot Sen oFd gt =ifte

(D) B 8 Ud SlcH i 3fdfe § Ui sridaarsi o U Sifid I gt et |

19 o T el 4 4 9 R

&ad (A) 3R (D)
(mahﬂc)
&ad (B) 3R (C)
(BN?R* (D)

Options :

68019135281. 1
68019135282. 2
68019135283. 3

68019135284. 4

Question Number : 22 Question Id : 6801918958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Match List I with List II

LISTI LISTII
Fraunhofer Interaction of the light waves from two
7 ) B, L. |:: =
Diffraction different wave fronts
Fresnel The distance between the source and the screen
Bl II. ; T
Diffraction are effectivelv at infinite distance
It's a phenomenon in which the wave
. |Interference of . ; : i
C. Licht I11. |vibrations are restricted to a particular
= direction in a plane.
D Polarization of v The source and screen or both are at finite
" |Light " |distances from the aperture or obstacle

Choose the correct answer from the options given below:

1
2

L]

4

(A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (II). (B) - (ITT). (C) - (I). (D) - (IV)
(A) - (D). (B) - (D). (C) - (IV). (D) - ()
. (A) - (ID). (B) - (IV). (C) - (I). (D) - (I1I)

Options :

68019135285. 1

68019135286. 2

68019135287. 3

68019135288. 4

Question Number : 22 Question Id : 6801918958 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



gt 151 gdt 11 ¥ [HaE $ifen

ail 1

A [PreTRmR [ | Gl S-S A W B A

* |fgadd - |siaTean

B [pafiadt o ﬁjﬁgfga?mﬁiﬁwﬁﬁw
. [HPRI T o 7% 0o 30 URYET & o AT B U

B RN |a ¥ o iy fan o Wit i B

D. [upr@ @I ggn | IV @m%fgﬂ?gﬁ@ﬁ?@m QY g
< feu U fae el & 9 Fet 3 I

L. (A) - (I}, (B) - (IL), (C) - (IIT), (D) - (IV)
2. (A)-(I), (B) - (II1), (C) - (1), (D) - {IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II), (B) - (IV), (C) - (I). (D) - (1II}

Options :

68019135285. 1
68019135286. 2
68019135287. 3
68019135288. 4

Question Number : 23 Question Id : 6801918959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The inter-molecular distance between two atoms of hydrogen molecule is 0.77 A and the mass of

. 27 1 . i i ?
proton 1s 1.67 X 10" Kg. The moment of inertia of a molecule 1s

1.4.95 x 107 Kgm?
2.0.495 x 107 VKg-m?
3.49.5 % 107 Kgm?
4.45.9 % 107 Kg-m]
Options :
68019135289. 1

68019135290. 2

68019135291. 3 Qcollegeduniaé

~



68019135292. 4

Question Number : 23 Question Id : 6801918959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIESIaH U] & &l RIS & did SiaR-SMufa® 31 0.77 A § 3R e 31 §o08H 1.6 X
10727 Kg B 130] 3T 5@ A0 &

1. 4. 95 x 10~ {1
2. 0.495 x 107~V fHa-Hy
3. 49, 5 x 10~ fPU1-R
4.45.9 % 1074 oo
Options :
68019135289. 1
68019135290. 2
68019135291. 3

68019135292. 4

Question Number : 24 Question Id : 6801918960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For Fresnel half period zone

(A) The amplitude of disturbance is directly proportional to the area of the zone.

(B)The radit of half period zone are directly proportional to the square root of the natural
number.

(C) The area of each zone 1s directly proportional to the wavelength of the light.

(D) The radii of half period zone are directly proportional to the square root of the wavelength of
the light.

Choose the eorrect answer from the options given below:

) and (C) only
) and (D) only
). (C) and (D) only
) and (D) only

Options :

68019135293 1 Qcollegedunias

~



68019135294. 2
68019135295. 3
68019135296. 4

Question Number : 24 Question Id : 6801918960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

th=Ic1 BT Wi & [Ty

(A) fqeiy &1 s A & &a%d & SFHHEEN g

(B) HﬁWﬁHﬂﬂﬁﬂﬁW@@ﬂ%@f@%&@mﬂwﬁﬁfﬂ%
(C) TS Gl BT % UHTY &I el &

(D) aﬁaﬂaﬁ?ﬁﬁaﬂuwaﬁﬂ@mﬁwﬁa%ﬁw@ﬁﬁ?ﬁ[

53 fog U et 8 @ O SR

1%?[(41 (B) 3R (C)
2. %ad (B), (C) AR (D)

3.%ad (A), (B). (C) 3R (D)

4.4 (A), (C) 3R (D)

Options:

68019135293. 1
68019135294. 2
68019135295. 3

68019135296. 4

Question Number : 25 Question Id : 6801918961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



In order to infroduce a phase difference of 7/2 in a Quarter wave plate , thickness of the crystal

should have a value of ........ (Given: wavelength = 5893 x 10°'% m, refractive index for O-ray is
1.65836 and refractive ndex for E-ray is 1.48641)

1.8.57 %10~ mm
2.8.57%x 10~ em
3.8.57x 10 m
4.8.57x 10~ nm
Options:
68019135297. 1
68019135298. 2
68019135299. 3

68019135300. 4

Question Number : 25 Question Id : 6801918961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- ST IR (T T e Sk = 5893 « 10710 m, O-feBRT 3 31T SyuacHiD 165836 % 3R
B-fRu & foIu Spuad-ia 1.48641 %)

1.8.57 % 10~ mm
2.8.57x 10 em
3.8.57%x10*m
4.8.57x 10*nm

Options:

68019135297. 1
68019135298. 2
68019135299. 3

68019135300. 4

Question Number : 26 Question Id : 6801918962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag

~



In case of a rolling solid sphere on an inclined plane. making an angle of 30° with the horizontal
plane. The acceleration of the sphere rolling down the plane 1s (where acceleration due to gravity

C D
15 9.8 m/sec)

1. 3.5 m/sec
2. 35 m/sec?
3.5.3 m/sec?
4.0.53 m/sec?

Options :

68019135301. 1
68019135302. 2
68019135303. 3
68019135304. 4

Question Number : 26 Question Id : 6801918962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o4t o> §U AT W TP el g3 31 TIel.&lfcol el o H1Y T 30° I DIV 11 § 7
3 1 e T 1 @RV & (561 HaIHNUl & BRI @ 0.8 Hew dabs 2 3)

1.3, s iR Adh s
2. 35 Al e’

3.5.3 Hieyddg?
4.0.53 i g?

Options :

68019135301. 1
68019135302. 2
68019135303. 3

68019135304. 4

Question Number : 27 Question Id : 6801918963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 )
collegedunia:

~



In a LCR circutt with L = 2mH. C = 2uF and R = 0.2 Q. the quality factor will be

. 100
. 10

. 1000
4.1

Options :

- —

L

68019135305. 1
68019135306. 2
68019135307. 3

68019135308. 4

Question Number : 27 Question Id : 6801918963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP LCR Hidhe H, L =2mH, C =2 uF 3R R = 0.2 Q B, SHPT U1 SRS (IG=Ival [Uiap)
g

1. 100
2.10
3. 1000

4.1
Options :
68019135305. 1
68019135306. 2
68019135307. 3

68019135308. 4

Question Number : 28 Question Id : 6801918964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



The four satellites are lying close to the earth at distance hy, h,, h; and hy metre respectively.

away from the centre of the carth. If the values of h's are given in terms of R (radius of the
earth). write the time period of the satellite in the increasing order

(A)hy =Rj3

(B)h, =R/4
(C)hy =R/5
(D)hy =R2

Choose the correet answer from the options given below:

Options :

680191353009. 1
68019135310. 2
68019135311.3

68019135312. 4

Question Number : 28 Question Id : 6801918964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR TR, ! & g U B by, by, hy AR b, HIR 1 3 R, g2l & pfe RYd g1l b
% T R (328 91 Frea) 3 el & R T & 1 5w % ofied 1 3 agd wn B o

Options :

680191353009. 1

68019135310. 2
Qcollegeduniag

~



68019135311. 3

68019135312. 4

Question Number : 29 Question Id : 6801918965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The position vector of a point in the frame S moving with constant veloeity 10 em/s along the X-
axis 1s given by (11.9.8) cm. The position with respect to S if the two frames were comcident
only 1/2 second earlier.

(11.9.8)
(16.9.8)

3.(16.13,10)
4.(11,13.10)

1.
2

Options :

68019135313. 1
68019135314. 2
68019135315. 3

68019135316. 4

Question Number : 29 Question Id : 6801918965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-38 & 10 cm/sec P TR G & 1Y IAHH %A S 1 U6 g o1 fufd gfew
(11.9.8) cm 21 TR 2701 350 el 112 s Tea Surdh Al s F e A R 2

1.
l

(11.9.8)
.(16.9.8)
3.(16.13.10)
4.(11,13.10)

Options :
68019135313. 1

68019135314. 2

68019135315. 3 :
collegedunia:

~



68019135316. 4

Question Number : 30 Question Id : 6801918966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the radius of earth becomes half of its present value. with its mass remaming the same. the
duration of one day will become

1.8h
2.6h
3.12h
4.18h

Options :

68019135317. 1
68019135318. 2
68019135319. 3
68019135320. 4

Question Number : 30 Question Id : 6801918966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufe gedl B His Su@! dadM Bow o 31l 81 ot 3. SR SUPT GoaHH JHH 8 ¢, dl
U foq @1 3@ & et

1.8H¢
2.64¢
3.126¢
4.189¢

Options :

68019135317. 1
68019135318. 2
68019135319. 3

68019135320. 4

Qcollegeduniaé

~



Question Number : 31 Question Id : 6801918967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For Newton's Ring Experiment

(A) The condition to get constructive interference 1s 2nt = (m+1/2)\. m =0.1.2.... where n 1s the
refractive index of the film and t is the thickness of the film.

(B) The condition to get destructive interference is 2nt = m), m =0,1.2.... where n 1s the
refractive index of the film and t 1s the thickness of the film.

(C) The condition to observe the colored ring. the source of light should be polychromatic

(D) The condition to observe the colored ring. the source of light should be monochromatic
Choose the correct answer from the options given below:

(A).
(A),
3. (A).

4.(B)

) and (D) only.
) and (C) only.
). (C) and (D).
) and (D) only.

: (B
1 (B
(B
e
Options :

68019135321. 1
68019135322. 2
68019135323. 3

68019135324. 4

Question Number : 31 Question Id : 6801918967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé
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e 9ad YA & fow
(A)WWWW&%MEIHZQH— 1/2)k, m=0.1,2 :E-", Wl n fthed &l
g ¢ IRt e et 81
(ijmwwﬁwlmﬁnh m=0,1.2 %.G!ETnﬁ'WW &[ﬂﬁﬁﬂﬁ%éﬂ'{
+ o ot 9o &
(C) Tt e o1 e el @t Wl & o wobTr 1 i agalf (arci ) g 9ifeu
(D) XTI T BT SaTIH PX- I Il ¢ [0 YD1 B Wi Tpaull (FHIpIACH)GH
BlIEY
4 fu T fodegi § 9 96l TR I:
1. B9d
2. ad

(4). (B) 3R (D)
2. 30 (A), (B) IR (C)
3. 344 (A). (B). (C) 3R (D)
4. %4 (B), (C) IR (D)
Options :

68019135321. 1
68019135322. 2
63019135323 3

68019135324. 4

Question Number : 32 Question Id : 6801918968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Michelson Interferometer, the distance traversed by the mirror between two successive
disappearances is 0.289 mm. The difference between the wavelengths of two lines 18 (Asuume
the wavelenght of one line 1s 5890 A).

6A

124
120A
4.60 A

Options :

(IS e

68019135325. 1
68019135326. 2
68019135327. 3

68019135328. 4

Qcollegeduniag
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Question Number : 32 Question Id : 6801918968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIgehea ogfdepuTHT (SeXhRImICR) B, <1 shide dlul & did U gRI g &1 75 4
0.289 mm | 31 ST137 B TRIIGE & 9 &1 3R § (TP Y41 Pl a1 5890 A AH T )

6A

12A
J120A
4.60 A

Options :

b —

L]

68019135325. 1
68019135326. 2
68019135327. 3

68019135328. 4

Question Number : 33 Question Id : 6801918969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Consider a silicon pn junction at T =300 K with doping concentrations of acceptor N, = 1016

em™ and donor Ny= 1017 em™. Assume that intrinsic concentration n=135x 1009 em3
relative permittivity = 11.7 and Vy; = 0.635 V. The width of space charge region in p-n junction
18

. 9.51 micrometer
. 0.951 micrometer
. 95.1 micrometer
4. 5.91 micrometer

fad d —

Options:

68019135329. 1
68019135330. 2
68019135331.3
68019135332. 4

Qcollegeduniaé

~



Question Number : 33 Question Id : 6801918969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WP N, = 1016 e FR TN = 101 e B SIUT WGl & FY T=300K RIS

ﬁw:[pan?ﬁaﬁﬁl T i foh 3R Figdlni= 1.5 x 1010 em™2, TTUY
feasierar = 11.7 3R Vbi = 0.635 VE. Tl p-n oM & Y311 ¥ 87 B 41515 &

.9.51 AIgehIHIeR
.0.951 A5
.95.1 HIgehIHIeR
4.5.91 AEHHIR

Options :

b =

Lz

68019135329. 1
68019135330. 2
68019135331. 3

68019135332. 4

Question Number : 34 Question Id : 6801918970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Match List I with List II

LISTI

LISTII

Bipolar npn transistor

The basze emitter 1z reverse biased

mode

A : % I. |and base collector junctions 1s

operate in the cut off mode. : .

forward biased

Bipolar npn transistor Both the base emitter and base
B. |operate in the saturation I1. |collector junctions are reverse

mode. biased

Bipolar npn transistor The base emitter 15 forward biased
C. |operate in the inverse active | III. |and base collector junctions 1

mode. reverse biased

Bipolar npn transistor Both the base emitter and base
D. |operate in the forward active | IV. |collector junctions are forward

biazed

Choose the correct answer from the options given below:

g b3 —

(A) - (D). (B) - (I). (C) - (III). (D) - (IV)
- (A) - (I). (B) - (TIT). (C) - V). (D) - ()
- (A) - (1). (B) - (II), (C) - (IV). (D) - (III)

4. (A) - (II). (B) - (IV). (C) - (I). (D) - (III)

Options :

68019135333. 1
68019135334. 2
68019135335. 3

68019135336. 4

Question Number : 34 Question Id : 6801918970 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



gt 151 gdt 11 ¥ [HaE $ifen

1 g I
A upn ZISFER DT L EW;&H P
St HIS H BH B & | ERE a0 B
o |FEHET npn TR WG (| |90 S AR 0 YIRS SR
s H & Sl 5 Gl gl UG sas §l
e 9 I UGS a0Es &
E3dT npn TR ahH oo ;
ool 3 I1L. Gﬁ?aiq;,nsm SR UYIERIS
D |[EHdTR npn TfeTER NG| . |99 S AR SF YIRS SR
(oo deded e | |aFl g BRas auEs B |
i feu T fasedl § 9 981 S| A |

Options:

68019135333. 1

68019135334. 2

68019135335. 3

68019135336. 4

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (TI). (C) - (IV). (D) - (I)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (D). (B) - (V). (C) - (I). (D) - (III)

Question Number : 35 Question Id : 6801918971 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Match List I with List II

LISTI LISTII
A|VE = :i [. |Gauss Law in magnetostatics
-0
VE =0 II. |Faraday's Law of electromagnetic Induction
G| WXE == g [1I. |Gauss Law in electrostatics
D ¥ xB = uyf + poeo % IV, |Modified Ampere's Law

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IIT), (D) - (IV)
2. (A) - (ITT). (B) = (I). (C) - (II). (D) - (IV)
3. (A)-(I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1I)

Options :

68019135337. 1
68019135338. 2
68019135339. 3
68019135340. 4

Question Number : 35 Question Id : 6801918971 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 1 g1 11 ¥ i Sifee
T el 11
A|lVE=2 I |fdereiess o 11y &1 fAom
V.BE =0 IL (re o1 faggd 9rad g Rl & (499
VxE=-2 II1. |goiee Refea & it o1 e
D. |¥x@ = g._,;'w,.f,.ﬂ IV. [TETR o1 g2hiied a9

at

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (IT). (C) - (III). (D) - (IV)
2. (A) - (II). (B) - (I). (C) - (II). (D) - (IV)

3.(A) - (). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (IID). (B) - (IV). (C) - (1). (D) - (ID) collegedunia:

~



Options :

68019135337. 1
68019135338. 2
68019135339. 3
68019135340. 4

Question Number : 36 Question Id : 6801918972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider phosphorus doping in silicon. for T =300 K. at concentration Ny = 10'%em=. The

fraction of total electrons still in the donor states 1s:

. 0.41%
A4.1%
3.41%
4. 14%

Options :

|

68019135341. 1
68019135342. 2
68019135343. 3
68019135344. 4

Question Number : 36 Question Id : 6801918972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Nd = 106 e &I Figdl |, T =300 h%WWﬁWWWWﬁI
P sagerl o1 o= o andt ot 2T R A R

1.0.41%
2.4 1%
41%
4. 14%

Options :

68019135341. 1 Qcollegedunia;

~

T



68019135342. 2
68019135343. 3
68019135344. 4

Question Number : 37 Question Id : 6801918973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true for ideal PN junction Current-Voltage relationship?
(A) The abrupt depletion layer approximation applies.

(B) The Maxwell-Boltzmann approximation applies to carrier statistics.

(C) The concept of low mjection applies.

(D) The total current is not constant throughout the entire pn strucuture.

Choose the correct answer from the options given below:

A).(
A). (
3. (A).(
4.(B). (

1. B) and (D) only.
1 B) and (C) only.
B).
C)

(C) and (D).
and (D) only.

— — — —

Options:

68019135345. 1
68019135346. 2
68019135347.3

68019135348. 4

Question Number : 37 Question Id : 6801918973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



SN PN WM YRI-dlees 99 & o Fafofea § 9 o5 oy 98t 82
(A) SHTHEP 3HAeRT IR SiFde arLgidl g

(B) Hagdq-alecoli Hiddhed Jaig® Filkeid] IR ar] §idl ¢

(C) 1 T &9 BT @RI AR Bl 5 |

(D) I pn TRAAT H T URT R 781 6

= feu v fawedl o 9 gel 3w I

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019135345. 1
68019135346. 2
68019135347. 3
68019135348. 4

Question Number : 38 Question Id : 6801918974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Displacement current is not a conventional current but it 13

1. Change in magnetic field

2. Change in magnetic flux

. Change 1n electric flux

4. Change in both magnetic field and magnetic flux

L]

Options:

68019135349. 1
68019135350. 2
68019135351.3

68019135352. 4

Question Number : 38 Question Id : 6801918974 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 .
collegedunia:

~



Correct Marks : 4 Wrong Marks : 1
fEuTT YRT U URURS yRT e R AfpT ue §
1. de 1 & § gRad
2. Ja g HfYares § gRad-
3. faqgd sifirare © uRadH
4. BT &7 AR gao 1y Harg aFl § gRad=

Options :

68019135349. 1
68019135350. 2
68019135351. 3

68019135352. 4

Question Number : 39 Question Id : 6801918975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST I1

Intrinsic semicondcutor| 1. |Used as a rectifier circuit

N- Type Semiconductor| II. |Pure form of Semiconductor

P- Type Semiconductor | II. |Doping of pentavalent impurity in semiconductor

ol a[w]x

P-N Junction diode IV, |Doping of trivalent impurity 1n semiconductor

Choose the correct answer from the options given below:

(A) - (IT). (B) - (I). (C) - (III). (D) - (IV)
. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
- (A) - (D). (B) - (D). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (D). (D) - (II)

fas b2 —

Options:

68019135353. 1
68019135354. 2
68019135355. 3
68019135356. 4

Question Number : 39 Question Id : 6801918975 Question Type : MCQ o@%ﬂ“ﬁ&?ﬂ%‘ﬁ



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 g 11 § e Pife
il I
& SaN® ; & RyeR tRuyRGemR ide) & FU H
= e © |SuTn fear sar &
B. ;WT 11. |3refarcie & g€ &0
c [P-TPR i eI H UdEiS (derdele) sl @l
" |reETE® |Sift
o [P-NEEE v |HETE A B ERdde ) g @
- fau Y fdeedl § 9§ el SR 9:

L. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (TI). (C) - (IV). (D) - (I)
3.(A)-(I). (B) - (II). (C) - (IV). (D) - (III)
4.(A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019135353. 1
68019135354. 2
68019135355. 3
68019135356. 4

Question Number : 40 Question Id : 6801918976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the amplitude of the electric field in a parallel beam of light of intensity 2.0 Wm™!

1. 448.8 NC!
2.388.8 NC!
3.380.8 NC!
4.38.8NC1

Options :

68019135357 1 Qcollegedunia;

~



68019135358. 2
68019135359. 3

68019135360. 4

Question Number : 40 Question Id : 6801918976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.0 W™ igdl & JUHIR fHu-ye o [dggd &3 o1 1A Jid S|

1. 448.8 NC!
2. 388.8 NC!
.380.8 NC!
4.38.8NC!

Options:

s

68019135357. 1
68019135358. 2
68019135359. 3
68019135360. 4

Question Number : 41 Question Id : 6801918977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of motion for compound pendulum is:

o ol

l.g +Tgc058:0
. mgl

2.8 +TgsinB:0

3.6 —#msﬁ =0

. mg .
. 6 T cos@ =0

e,

Options :

68019135361. 1 Qcollegeduniaé

~



68019135362. 2
68019135363. 3

68019135364. 4

Question Number : 41 Question Id : 6801918977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl Al (UgaH) & U 11T BT JHIDHR &:

. magl
- 8 +Tgcnsﬂ =0

—

. magl
- +Tgsiné‘=0

3.6 —#mse =11

| ]

.
—'I-. —_— —— —
6 T cosf@ =0

Options :

68019135361. 1
68019135362. 2
68019135363. 3

68019135364. 4

Question Number : 42 Question Id : 6801918978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



The Hamuiltonian's equation of motion 1s;

.. 2 aH
My =_,, py=—
qz ﬂp} ] aqj

., OH _ oH

s, _OH  _OH

Pj aP} 2 M= an
8H @H

Options :

68019135365. 1
68019135366. 2
68019135367. 3

68019135368. 4

Question Number : 42 Question Id : 6801918978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 gfiee g gHiaRu &
. _6H i e dH
T
3.4 _&H . _ﬂH
Ll ap;’ 4 ~ 9q;

oH oH
Options :

68019135365. 1
68019135366. 2
68019135367. 3

68019135368. 4

Question Number : 43 Question Id : 6801918979 Question Type : MCQ O Shuffling : No Is
collegedunia:

~



Question Mandatory : No Calculator : Scientific Response Time : N.A Th
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement (I): If a given component of the total applied force vanishes. the corresponding
component of the linear momentum 1s not conserved.

ink Time : N.A

Statement (II): If the component of applied torque along the axis of rotation vanishes, then the

component of total angular momentum along the axis of rotation 1s conserved.

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (I) and Statement (II) are incorrect.

3. Statement () 1s correct but Statement (II) 1s incorrect.
4. Statement (I) 18 incorrect but Statement (II) is correct.

Options :

68019135369. 1
68019135370. 2
68019135371.3

68019135372. 4

Question Number : 43 Question Id : 6801918979 Question Type : MCQ O
Question Mandatory : No Calculator : Scientific Response Time : N.ATh

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e APy fer M e:
Y (1): T1E Dol VT 90 BT Dl 171 7701 U QW 5 oIl @, i 13 GaiT &l Haifera
Hed W& eI gl |

ption Shuffling : No Is
ink Time : N.A

Y (11): TS YU 31 P SIS T T § 310l 1 9 e B oifell o, all i 34ef b

3 0 BV W &1 9eP Wigd B/l 5l
JIRIG Bl P e T, < U T fapedl © 9 994 I9ga IR |

I) AR YA (11) &Hl 81 5

1) IR Y (11) GH1 €1 e €
) T ¢ Qi YA (1) Tad o
1) 7T & Qe T (11) T B

1. PYT
2. YA
3. YA
4. PYT

—

Options :

68019135369. 1

Qcollegeduniag

~



68019135370. 2
68019135371. 3

68019135372. 4

Question Number : 44 Question Id : 6801918980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For POISSON BRACKETS. which of the following statements are correct?
(A)[X.Y]=-[Y. X]

(B) [X.X]=0

(O Y+ 21X+ [EZ]

D) [X.YZ]=Y[X.Z]+[X.Y]Z

Choose the correct answer trom the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

a3 =

L]

Options:

68019135373. 1
68019135374. 2
68019135375. 3

68019135376. 4

Question Number : 44 Question Id : 6801918980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé
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aigeH sy & o, Fafaf@d & S oF W sy 98 82
(A)[X.Y]=-[Y. X]

B) [X, X] =0

O [X.Y+Z]=[X Y]+[Y.Z]

D) [X.YZ]=Y[X.Z]+[X. Y] Z

- feu e fosedl & 9§ 95l SR A |

1. %ad (A). (B) 3R (D)
2. qd (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B). (C) 3R (D)

Options :

68019135373. 1
68019135374. 2
68019135375. 3
68019135376. 4

Question Number : 45 Question Id : 6801918981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. s BT B pE =2 y :
The shortest distance between the lines = — = ? e and — =+ e
Fa E fu -

|

L
_ |_£__ _—
— | iy

4,

]

L]

J
Options :

68019135377. 1
68019135378. 2
68019135379. 3

68019135380. 4

Question Number : 45 Question Id : 6801918981 Question Type : MCQ O Shuffling : No Is
collegedunia:

~



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@TG-{EI;J':‘._2=:_3\3-ﬁ?r_2=y_4=:_5$ﬁﬂﬁﬁnﬁﬂﬂ@ %:

3 4 3 4 5

1.1

q

Faa
Sl =Gl
= ol wil

L]

24/
Options :
68019135377. 1
68019135378. 2
68019135379. 3

68019135380. 4

Question Number : 46 Question Id : 6801918982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The image of the pont (1. 3. 4) mthe plane 2x —y+z+3=01s:

1.(3,.21)
3 (-3:52)
A(52:5)
4. (5.1.6)

L]

Options :

68019135381. 1
68019135382. 2
68019135383. 3

68019135384. 4

Question Number : 46 Question Id : 6801918982 Question Type : MCQ Optin Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Th iﬁ&llageduniag



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dd 2x-y + z+ 3 = 0§ fdig (1.3.4) &1 widfara e

(3-2.1)
. (=3.5.2)
.(3,2.5)
4. (5.1.6)

|

Taa

Options :

68019135381. 1
68019135382. 2
68019135383. 3

68019135384. 4

Question Number : 47 Question Id : 6801918983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(General Equation of the sphere ) (Radius of the sphere)

—

L+t 268 -10z+1=0| L |7 unit

Ay 2+ dx+6y—82+4=0 [ I |5 unit

REE

A+ 2 —dx+6y+22+13=0[IV. |1 unit

Choose the correct answer from the options given below:

(A)- (D). (B) - (D). (C) - (IIT). (D) - (IV)
- (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
. (A) - (II). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

fad b —

Options :
68019135385. 1
68019135386. 2

68019135387. 3

68019135388. 4 gcollegeduniag

~



Question Number : 47 Question Id : 6801918983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 1 i 11 ¥ e ifey

GSil S
TR BT HHW FHP) (e @t frsam
E4y 2 6r-8y-10z+1=0| L |7 3018
Wyt A+ 6y—8z+4=0 | IL 3_‘%'%-

P2 —dx+6y—2z+5=0 |IL[3

PR —dx+ 6y +2:+13=0|IV [1 FF5
- fau Y fdeedl O 9 el SR 9:

(A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (II). (B) - (IV). (C) - (D). (D) - (II)

=

ofofw

b =

L]

=

Options :

68019135385. 1
68019135386. 2
68019135387. 3

68019135388. 4

Question Number : 48 Question Id : 6801918984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Match List I with List IT

LISTI LISTII
(Name of the surface )  |(The equation in standard form )|
A. |Ellipsosd L fax® + b2 + 22 =1

2 2 2

B. |Hyperboloid of one sheet | II 1—5 == l—_}- —-'—{ =1
a- b°
2 Z

C. |Hyperboloid of two sheets| I1I. l:}- + -}-;; - :-:?- =1
a b* ¢
g 2 )
- LS

D. |Central conicoid N5+ mtm= 1
a e B

Choose the correct answer from the options given below:

- (A)-(D). (B)-(II). (C)~(III). (D)-(IV)
- (A)-(D). (B)-(IIT). (C)=(I1). (D)-(IV)
- (A)-(IV). (B)-(II). (C)-(I). (D)~(III)
4. (A)-(IV), (B)-(III). (C)-(1D), (D)-(I)

|

L]

Options :

68019135389. 1
68019135390. 2
68019135391. 3

68019135392. 4

Question Number : 48 Question Id : 6801918984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



gt 151 gdt 11 ¥ [HaE $ifen

il T 11
(HdE &1 A1) |@® w=u d weie)

A [Tft Ezflﬁgim L {ax? + by? + 2% =1
2 2 22

B. [t ¥l sRmElss (famaede)| I | -2 - = =1
a-  b-
P 2 7
- £ gt e

C. |f& et sEmRETss (fauwRamae) |1 e
i A -
2 2 2
.o | i

D. [Hed pIPI3s (B5IT THH) N[5+ + = =1
a =

-3 feu U fd el O 9§ 981 SR I |

- (A)-(D). (B)-(II). (C)-(IID). (D)-(IV)
- (A)-(I). (B)-(ITI). (C)-(ID). (D)-(IV)
- (A)-(IV). (B)~(I1). (C)-(I). (D)~(II)
- (A)-(IV). (B)-(IIT). (C)-(II). (D)-(I)

R B B

Options :

68019135389. 1
68019135390. 2
68019135391. 3

68019135392. 4

Question Number : 49 Question Id : 6801918985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement (I): Every homogeneous equation of second degree in x. y and z represents a cone
whose vertex is at the origin.

Statement (II): If two equations representing the guiding curve are such that the one equation 1s
of the first degree then required cone with vertex at the origin 18 obtained by making the other
equation homogeneous with the help of first equation.

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both Statement (I) and Statement (II) are correct.
2. Both Statement (I) and Statement (II) are incorrect.

3. Statement (T) 1s correct but Statement (II) 1s incorrect. Q )
4. Statement (I) is incorrect but Statement (II) 1s correct. col Ieged unias

~



Options :

68019135393. 1
68019135394. 2
68019135395. 3
68019135396. 4

Question Number : 49 Question Id : 6801918985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 &1 Py AU MU B

B (I): x, y AR 2 8 elta (301 (Gum) 1y 9 §Hie0 Ue 99 1 wiaFfi
PRl § [org T 2 a g W g

HYF (I0): e a% &1 U@ S el & Ieftesur U8 € fos ve geftev el
& (meTa) @15 ol 50 fdg R 2N o WY Ha90d U Ugel GHIHR0 &) Ggrdl 4
TEY GHIHRV D! HIF TR WG (351 o1ell 3

SRITd DYl P 3MTedi H, i< U 0 fdpedl ¥ 968 9ugad IR

1) 3R YA (1) I 981 5

1) 3R Y (11) S &1 7T o
1) 51 § Qifd &Y (11) Tad G |
1) 717 € Qe B (1) T8l 2

1. PYA
2. DYq
3. PYT
4. DY

D — . p— —

Options:

68019135393. 1
68019135394. 2
68019135395. 3

68019135396. 4

Question Number : 50 Question Id : 6801918986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé
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Solve the following differential equation by method of Laplace transform.
"+ 2" —y'—2v=o given that v (0)=1'(0)=0 and y"(0) =6

Ly(@)=¢€ -3 + 2
" o s
2.y(t)=¢€ +e* +2e
o 7y
3.y()=2& + 3¢’ -2

4.y (f) = 2€" +sint—cos 3t
Options :
68019135397. 1
68019135398. 2
68019135399. 3
68019135400. 4

Question Number : 50 Question Id : 6801918986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT =R &1 [afe gRI FAfeiad saed JHiH &l ed By,

"+ 2" —y'— 2y =0 given that y (0) =1'(0) =0 and »"(0) =6

1Ly()=é& -3¢ + 272

2.y()=é +e&l+2e7

3.y()=2& +3¢T -2

4.y ()= 2€" +sint—cos 3t
Options

68019135397. 1
68019135398. 2
68019135399. 3

68019135400. 4

Question Number : 51 Question Id : 6801918987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag
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Given below are two statements:
Statement (I): Two families of curves such that every member of either family cuts each
member of the other family at right angles are called orthogonal trajectories of each other.

~

Statement (II): The orthogonal trajectories of the curve xy = ¢ is 12 —x% =c.

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both Statement (I) and Statement (IT) are correct.

2. Both Statement (I) and Statement (II) are incorrect.

3. Statement (I) 1s correct but Statement (IT) 1s incorrect.
4, Statement (I) 1s incorrect but Statement (II) 1s correct.

Options:

68019135401. 1
68019135402. 2
68019135403. 3
68019135404. 4

Question Number : 51 Question Id : 6801918987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g e UM e

HY (I): T & <l Pl 28 UBR (b bl 2t Pt 1 TS Jokd TR Pl b Ul Gl
P YHDIV R BIed] 5, 3 U GO & AR cofdes] (aaIUig apuY) gl ol g |
W(ﬂ):aﬁ?x}:caﬁ&ﬁ?ﬂaﬂ:ﬁmf—x2=c%l

SIRIad Yl & 3die 1, 7= 6T T fdbedl © ¥ 98 9uged 9w -

3R T (1) 31 1 5

SR YA (11) G 51 Tad 5
5! § Qs Y (11) T &
T & Qb B (1) TR 1

1LY
2. B (1
3. B
4. BYA (1

| R R L I L

Options:

68019135401. 1
68019135402. 2
68019135403. 3

68019135404 4
Qcollegedunias
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Question Number : 52 Question Id : 6801918988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function for all values of x with ' (x) <32 and f(3) =21, then
maximum value of f(8) 1s

. 160
139
. 181
4. 32

Options :

s o —

68019135405. 1
68019135406. 2
68019135407. 3

68019135408. 4

Question Number : 52 Question Id : 6801918988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g £ (x) <32 3R £(3)=21 T Y » & 9 T & 0 £ (v) 0@ Sfeda-g B 6. 1l f
(8) BT fBaH 7 &

. 160
. 139
. 181
4.32

Options :

e I =

68019135405. 1
68019135406. 2
68019135407. 3

68019135408. 4

Question Number : 53 Question Id : 6801918989 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.ATh e| N.A o
collegedunias
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d3y _dy

The general solution of the differential equation — = _ §_— 4 gy = e¥ cos2x IS
x> dx -
x

L. y(x) =¢; e + 73 — >0 (3sin2x — cos2x)
7 > e:'..t' 5
= y(x) = ¢; ¥ + c,e%* S (3 sin 2x + cos 2x)

2w
3

-y(x) = e +ce”¥* +

e
3 (3sin 2x —cos2x)

-~

E.J.'
- y(x) = (¢; +e2x)e™ 3+ B (3sin 2x — cos2x)

=y

Options :

680191354009. 1
68019135410. 2
68019135411.3
68019135412. 4

Question Number : 53 Question Id : 6801918989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R ELT dv
ST FHIBRU 4 _ gDV | o0 ox o502y PTAHRI B 6:

dx* ~dx
- & < E:.r
L y(x) = €y e + o™ —E{E}sin 2x —cos2x)
2x

[ )

. e
- y(x) = ¢; e + ¢, == (3 sin 2x + cos2x)

. e
3. y(x) = c e +cem3 4 5 (3sin 2x — cos2x)

2x

4. y(x) = (c; +ecxx)e ™3+ Es (3sin 2x — cos2x)
Options:

680191354009. 1

68019135410. 2

68019135411. 3

68019135412. 4
gcollegeduniaé
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Question Number : 54 Question Id : 6801918990 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-T with List-II

List-I List-II
(Differential Equation ) { Complementary Function)
d:‘. dv —_.
Al—-4—+13vy=0 L |@ *(C4 TCa2X
dx= dx ; ( . - )
d:_‘l.‘ dy 2y . R
B. ——+4—+ 5y =cosh5x 1. |e=*(¢y cos3x + ¢, sin 3x)
x- dx ' =
dly dwv ) 5
C.|22+22 ¢ y=cos?x I ¢y e* + C,e%
dx* dx =
d: ' Jas p - =
D. |5 - 4=+ 3y = sin3x cos2x| IV. |77 (€ cosx + ¢ sinX)
dx= X

Choose the correct answer from the options given below: |

fas b2 —

s

Options:

68019135413. 1
68019135414. 2
68019135415. 3
68019135416. 4

. (A)-(I). (B)-(IT). (C)-(II1). (D)-(IV)
- (A)-(IT). (B)-(II). (C)-(I). (D)-(IV)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)
. (A)-(IT). (B)-(IV). (C)-(I). (D)~(II)

Question Number : 54 Question Id : 6801918990 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé
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gt 151 gdt 11 ¥ [HaE $ifen

Tl 1 A I
(TP THIBD) (X Bae)
d:\.' d‘L‘ -
A.. — — L I. -
—5—4——+13y=0 e *(c; + c3x)
B [4Y, 4? + Sy = cosh 5x 1. |e**(¢; cos3x + ¢, sin 3x)
tlx = X : -
C. ﬂr_“1+ zd—'v+ y=cos®x Il ¢, e¥ + c,e3*
dx? dx - ' 1 <
D. j;— 4% + 3y = sin3x cos2x| IV. [ ™ (c; cosx + ¢,sinx)
A= feu e fae el o 9 9ol 3w I
L (A)-(D). (B)-(II). (C)-(III). (D)-(IV)
2. (A)-(II). (B)-(III). (C)-(I). (D)-(IV)
3.(A) - (). (B) - (AV). (C) - (D). (D) - (1I)

4. (A)-(IT). (B)-(IV). (C)~(I). (D)-(III)

Options :

68019135413. 1
68019135414. 2
68019135415. 3

68019135416. 4

Question Number : 55 Question Id : 6801918991 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

23} -
The value of tan[i lag( N j] is

2+iy3

a =

1
. 24/3
44/3

e g

Options :

68019135417. 1
68019135418. 2
68019135419. 3

Qcollegedunias
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68019135420. 4

Question Number : 55 Question Id : 6801918991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tan [i lcg(i ; t u,-'i)] [ HIH %;
L2+ Iy
1.0
2 |
3.2/3
Options :

68019135417. 1
68019135418. 2
68019135419. 3
68019135420. 4

Question Number : 56 Question Id : 6801918992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The value of the integral j (x3 + xy)dx + (x* — y*)dy, where c 13 the square formed by the lines

c

r=dly—41. 48"

8
e 7
W,

4.
Options:

L) - —
i i i

[3]]

=

68019135421. 1
68019135422. 2

68019135423. 3

68019135424, 4 .
collegedunia:
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Question Number : 56 Question Id : 6801918992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G f (63 + xy)dx + (6 = y3)dy PR Tl x = +1,y = +1 TG gRIPRIA TS,
¢

A
1/8

b =

1
L
‘1‘..
4.0

Options :

[ 3]

68019135421. 1
68019135422. 2
68019135423. 3

68019135424. 4

Question Number : 57 Question Id : 6801918993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The surface integral ﬂ F.ids, where F =xi+yj — zk and s is the suface of the cylinder

x? + y? = 4 bounded by the planes z=0 and z =4, equals :

1. 32x
2. 323

3. 16m

4.48
Options:
68019135425. 1
68019135426. 2
68019135427. 3
68019135428. 4

Qcollegeduniaé
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Question Number : 57 Question Id : 6801918993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Q10 AT || F s, TR F 437 — ke PTHF IR G(TE 80 12 4% = 4 PTG R
ﬁﬂﬂﬂﬂz:(]&a?z:l@qm%:
.32n
. 32/3
3.16m
4.48
Options:

- =

68019135425. 1
68019135426. 2
68019135427. 3
68019135428. 4

Question Number : 58 Question Id : 6801918994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The value of curl (grad f), where f=x? -4 y2 +5 2%, is :

1.0

2.1

3.41+2;5-3k

4.2x1-3yj+2zk

Options:
68019135429. 1
68019135430. 2
68019135431. 3

68019135432. 4

Question Number : 58 Question Id : 6801918994 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Thj h eI N.A .
collegedunias



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B ASHPIAA, TRl f=x>-4y*+522. 8

.0

2 |

41+21-3k
4.2x1-3yj+2zk

|

Taa

Options :

68019135429. 1
68019135430. 2
68019135431.3

68019135432. 4

Question Number : 59 Question Id : 6801918995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement (I): If F is an irrotational vector field then the angular veloeity of the vector field is
always greater than zero.

Statement (II): For a Solenoidal vector function, the divergence is always zero.

In light of the above statements. choose the most appropriate answer from the options given
below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (I) and Statement (II) are incorrect.

3. Statement (I) 1s correct but Statement (II) 1s mncorrect.
4. Statement () 1s ncorrect but Statement (II) 1s correct.

Options :

68019135433. 1
68019135434. 2
68019135435. 3
68019135436. 4

Question Number : 59 Question Id : 6801918995 Question Type : MCQ O Shnfﬂing :No1Is
collegedunia:
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Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIECACHEICUR
Y (1): Ae, p U Sgolf wfew &7 &, 7 9few 87 1 vy o g I ¥ e g

gl
HY (1) UP S35 (IRATCD ) FIG= B o (o, fage o= Y= giar g |

SR PYl & Hreilep H, i [§U M fap el & U a8 Iuged F<R T:

AR B (1) T el 5

3R U (11) &1 81 TTad 5 |
el § a1 B (11) Tad 2|
T ¢ e S (1) TeT 31

1LY (I
2. P (I
3. P (I
4. B (1

M

Options :

68019135433, 1
68019135434. 2
68019135435. 3

68019135436. 4

Question Number : 60 Question Id : 6801918996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X
Let o be the magnitude of the directional derivative of the function px.y)=—5— along a
X+
line making an angle 45° with the positive x-axis at the point (0. 2). then the value of — 1s:

(7
1.24
|
NG
3:16v2
4.32
Options :

5

68019135437. 1

68019135438, 2
68019135439. 3 @ collegedunia:

~



68019135440. 4

Question Number : 60 Question Id : 6801918996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 0[5 (0.2) TR HFIHD X- 3481 & FY 45° BT P10 1 el @1 & fasr B
$(x.y)=—— % fxTer smaaw @1 aRA S A R — P

~
xT+ )

1.24
1
1. e
42
31642
4,32
Options :

68019135437. 1
68019135438. 2
68019135439. 3

68019135440. 4

Question Number : 61 Question Id : 6801918997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 3 i
The volume of the solid standing on the area common to the curves . x“ =y, y=x and cut off by
~ i
the surface z =y —x"is :

1.32
1

60
|

3

P

32
4,48

Options :

68019135441. 1

68019135442, 2 .
collegedunia:
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68019135443. 3
68019135444. 4

Question Number : 61 Question Id : 6801918997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ahl ¥ =y.y=x D IHGAT TP AR TGS aﬁ'\rqu?r—x’z T fanfed 319 o1 3 &

1.32
2k
60
3.1
32
4.48
Options :
68019135441. 1
68019135442. 2
68019135443. 3

68019135444. 4

Question Number : 62 Question Id : 6801918998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Y

. ; : : ) | : i
In a submarine telegraph cable. the speed of signalling varies as x° lng(— ] . where x 1s the ratio
X

of the radius of the core to that of the covering. To attain greatest speed. the value of this ratio 1s

Options :

68019135445. 1

68019135446, 2 )
Qcollegedunlaé
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68019135447. 3
68019135448. 4

Question Number : 62 Question Id : 6801918998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s

\

PG 3R HaRT (SM1aR0T) I FHsT] &1 ST 3| SHdhad T Wi - & fou, 29 3urd
HIAA &

Options :

68019135445, 1
68019135446. 2
68019135447.3

68019135448. 4

Question Number : 63 Question Id : 6801918999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The asymptote of the spiral r = 3 1s:

l.rsmf=ao
2.rsmbB+a+1=0
J.rcosf=a
4, asmn B =2r

Options :
68019135449. 1
68019135450. 2

68019135451. 3 ,
collegedunia:
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68019135452. 4

Question Number : 63 Question Id : 6801918999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dar = = &1 uwie (AR &

é

l.rsnfB=u
2.rsinB+a+1=0
J.rcosbB=a
4, asmb=2r

Options :

68019135449. 1
68019135450. 2
68019135451. 3
68019135452. 4

Question Number : 64 Question Id : 6801919000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the radius of curvature of the Folium x3 + y3 — 3xy = 0 at the pomnt (3/2 , 3/2) 1s —, then the value of

™| R

Bi42a+11s

128

. 100

135
4.1

Options:

e I —

68019135453. 1
68019135454. 2
68019135455. 3

68019135456. 4

Qcollegeduniaé

~



Question Number : 64 Question Id : 6801919000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe g (3/2.3/2) R IR ° + )7 - 3xy = 0 D asbell ﬁw%%fﬁﬁz +20+ 1 FIAAE

. 128
. 100
. 135
4.1

Options :

bd =

L)

68019135453. 1
68019135454. 2
68019135455. 3

68019135456. 4

Question Number : 65 Question Id : 6801919001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement (I): The nth derivative of the function e* cosx cos2x 13

[i er {UU) "/2cos (3x +n tan™* 3) + (2)™ cos(x + ?}H

ek (H): The nth derivative of the function cosx cos2x cos3x18

E {(2) " cos (Ex + E) +(4)"cos(4x + E) +(6)"cos(6x + E}H

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both Statement (I) and Statement (IT) are correct.

2. Both Statement (I) and Statement (II) are incorrect.

3. Statement (I) is correct but Statement (II) 1s incorrect.
4, Statement (T) 1s incorrect but Statement (II) 1s correct.

Options :

68019135457. 1

68019135458, 2

68019135459, 3

68019135460. 4 Qcollegedunias
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Question Number : 65 Question Id : 6801919001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 3l Py G MY 6 _
HYF (I): BT o cos x cos 2x Pl uth SRAET (3faPHa) &

[ [(10) "2cos (3x +ntan~! 3) + (2)"/? cos(x +E)]]
PYT (I): BT cos x cos2x cos 3x P ath SRafed (awmaw) &
[;{(2)" cos (21’ +T) + (4)" cos(4x +—) + (6)"cos(6x +E)}]

SR DUl & 31eild T, i fGU 71U fgsedi © 9 9e8 I9gdd IR I:

1. FYH (1) IR Y (1) S 92

2. BYA (1) AR FYF (11) THI 8 T B
3. YA (1) Wel & i Y (I1) Tad &
4, B (1) TeTd © Qb HYF (11) T 2

Options :

68019135457. 1
68019135458. 2
68019135459. 3
68019135460. 4

Question Number : 66 Question Id : 6801919002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

it g = tn E-Er-_«. then for what value of n. the following result holds:

19 (_:ae?)_as
r2ar\ ar) " ot

/7

|
S

e Laa
L2
[ ]

Qcollegeduniaé
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Options :

68019135461. 1
68019135462. 2
68019135463. 3

68019135464. 4

Question Number : 66 Question Id : 6801919002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR o _ t,IEHEE%.ﬁ11$WHH$W.ﬁHﬁT@HWW%
19/ .,08| a6
=) "

A

Nl
==

3.
4. -3/2

Options :

68019135461. 1
68019135462. 2
68019135463. 3
68019135464. 4

Question Number : 67 Question Id : 6801919003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The principal value of i’ is :
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* e Qcollegeduniaé
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Options :

68019135465. 1
68019135466. 2
68019135467. 3

68019135468. 4

Question Number : 67 Question Id : 6801919003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

AR CI R E I

g
S'E
4.

|
=

a
o
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e 4
Options :
68019135465. 1
68019135466. 2
68019135467. 3

68019135468. 4

Question Number : 68 Question Id : 6801919004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The general value of log(1 + 1) + log(1 — 1) 15 :
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68019135469. 1 Qcollegeduniaé

~



68019135470. 2
68019135471. 3

68019135472. 4

Question Number : 68 Question Id : 6801919004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
log (1 + ) + log (1 — 7) T TTHF M &:-
1. log2 +4nmi
2. log2 —4nmwi

3.log2 + 2nm i
4. log3 +nxi

Options:

68019135469. 1
68019135470. 2
68019135471. 3

68019135472. 4

Question Number : 69 Question Id : 6801919005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement (I): The determinant of a matrix A and its transpose AT are equal.

Statement (IT): The determinant of a product of two matrices A and B 1s the product of their
determinants.

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (I) and Statement (II) are incorrect.

3. Statement (I) 1s correct but Statement (II) 15 incorrect.
4. Statement () 1s incorrect but Statement (II) is correct.

Options :

68019135473, 1 Qcollegeduniag

~



68019135474. 2
68019135475. 3

68019135476. 4

Question Number : 69 Question Id : 6801919005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERAGAICACURINGE ﬁ

HYH (1): TP N1TE A BT IRUGHR 91 TRad AT SRR 8

BT (I1): &l 3R] A 3R B & 0HGA B YR 378 IRIUD] H1 [0HGT ¢
SURIdd DYl & 3Teilep H, i {30 MU f[ddedl H 9 98 UG SR -

1. HYA (1) AR BYF (11) F1 Tl 2l

2. YA (1) R B (11) 3F1 81 Tad &
3. WY (1) el & Qfcps HYUH (1) Tad ¢
4. BY (1) 7T § Qe HY (1) TET B

Options :

68019135473. 1
68019135474. 2
68019135475. 3
68019135476. 4

Question Number : 70 Question Id : 6801919006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If (V3+ 1}” +(V3- 1}” — 4. then the value of # 13 :

fad Jd =
o b =

4.3/2
Options :

68019135477. 1 gcollegeduniag

~



68019135478. 2
68019135479. 3

68019135480. 4

Question Number : 70 Question Id : 6801919006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

— AL — L 3
IR(V3+i) +(V3-i) =4 FA«PIAAE

| ]
2 =

LA}
L]

4 3/2
Options:
68019135477. 1
68019135478. 2
68019135479. 3
68019135480. 4

Question Number : 71 Question Id : 6801919007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the system of linear equations A X =B, If A is singular matrix and B 1s null matrix then
which of the following 1s correct.?

1. The system is inconsistent.

2. The system has unique solution.

. The system 1s consistent and has no solution.
4. The system has infinitely many solution.

Laa

Options :
68019135481. 1

68019135482. 2

68019135483. 3 ,
collegedunia:

~



68019135484. 4

Question Number : 71 Question Id : 6801919007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IG® FHioRU A X =B & o 551 Yurelt H e A TP s/ogehHuily S1edg & 3R B 1P
T TG § l Fefad # Y S I 8

1. Fom SR &

2. o & T R &9 &

3. Fom QU € iR 59T 515 5d el ¢
4 Fom T T EU T FE ga ¢l

Options :

68019135481. 1
68019135482. 2
68019135483. 3
68019135484. 4

Question Number : 72 Question Id : 6801919008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the matrix equation [g _51] E] = [ 1 ] the values of xandy are:

-3
ox=3 =1
2. =1, y=1
3.x=Ly=-1
4.x=-1,y=3
Options:

68019135485. 1
68019135486. 2
68019135487. 3

68019135488. 4

Qcollegeduniaé
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Question Number : 72 Question Id : 6801919008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

offogg TR [3 ][] = [ 5] H.x siRy FAF B

1. 3= 3 =1
2ox=—Ttew=1
Jx—1.py=-1
4. x=-1,y=3
Options :

68019135485. 1
68019135486. 2
68019135487. 3
68019135488. 4

Question Number : 73 Question Id : 6801919009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A 1s a skew-symmetric matrix of odd order, then the determinant of A 1s :

=1

0

3:4

4. any real number

I =

Options :

68019135489. 1
68019135490. 2
68019135491. 3

68019135492. 4

Question Number : 73 Question Id : 6801919009 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Qcollegeduniag

~



Correct Marks : 4 Wrong Marks : 1

ufe A fawm Fife &1 fayn-ymfia smegg €. 9 A &1 IR &

|
A
1

4. Plg adfas T
Options :

fas 2 —

68019135489. 1
68019135490. 2
68019135491. 3
68019135492. 4

Question Number : 74 Question Id : 6801919010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let P and Q be two matrices such that PQ = 0 and P 1s non-singular, then
(A) Q is also non-singular

(B)Q=0

(C) Q 18 singular

(D)P=Q

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (B) and (C) only.

. (A) and (D) only.

4. (C) only.

L]

Options :

68019135493. 1
68019135494. 2
68019135495. 3
68019135496. 4

Question Number : 74 Question Id : 6801919010 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 Q(:o”egedunia§

~



Correct Marks : 4 Wrong Marks : 1

HHI P 3R Q 31 3{ToYE & WY b PQ= 0 3R P HepHUilg &, ol

(A) Q Yl b UIg §

(B)Q=0

(C) Q cgepHuiiu §

(D)P=Q

- fau e fdel O 9§ 8l SR 9:
A). (B) 3R (D) Pad|

2 |

2. (B) 3R (C) &dd|

3. (A) 3% (D) Had|

4. (C) Had|
Options :
68019135493, 1
68019135494, 2
68019135495, 3

68019135496. 4

Question Number : 75 Question Id : 6801919011 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

4

LISTI LISTII
(Tspe of the Matrix) (Property)
A |Symmetric Matrix I. | a;=—ay. for values of f and ;
B. |Hermitian Matrix II. | a; = —aj;. for values of  and
C. |Skew-Hermitian matrix | II1. a; = d ;. for values of 7 and 7
D |Skew-Symmetric matrix| [V | a. =

—a ;. for values of i and ;

Choose the correct answer from the options given below:

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
3.(A) - D). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (D). (B) - (II). (C) - (IV). (D) - (I)

Options :

68019135497. 1

Qcollegeduniaé

~



68019135498. 2
68019135499. 3

68019135500. 4

Question Number : 75 Question Id : 6801919011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 ¥ [HaE $iforn
T 1 I
(SHTSTE UPTR) )]
A |gEfEd segg I |ay=-ay (3R S AA & f0)
B. |gfHifen amegg I | 2y =- a6 3R & AH@ Q)
c. |fawm-grfien snogg| L | o = a7 (1 91R; & I & o)
D. |faun gnfideregg | IV. |ay = a7, G ¥R & FHN & o)

3 g e R & @ 9 SR

L. (A)-(I). (B)-(II). (C)-(I1I). (D)~(IV)
2. (A)-(I). (B)-(III). (C)~(II). (D)-(IV)
3. (A)-(D). (B)-(I). (C)-(IV). (D)-(III)
4. (A)-(IT). (B)-(III). (C)-(IV). (D)~(I)

Options :

68019135497. 1
68019135498. 2
68019135499. 3

68019135500. 4

Qcollegeduniaé

~



